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Chapter 09 A&5TA| E°]

9.1

Command Window

>> format long;

PP OSYMS NV

> dfy = diff(Zxsin(2ex)+log(3+y), v)
diy =

(2+sin(2+a)) /v

¥» wowal = subs(dfy,x,0.2+pi)

Howal =

(20123057 (1/2) + B (1/20)/(2+y)
»> y_val = double(subsix_val,y,pi/2))

y_wal =

1. 210922765525051

9.2

y(0.17) = e =1.3620855181




9.3

| poam |+ |
11— ho=o0.02
2 - y(1) = 2;
3 - n=0;
4 - for t1 = h:h:1
5 - n=n+l;:
B - win+el) = win)-T+y(nl+h;
T - end
g - t =0:h:l:
9- fy = Zrexp(-T+t);
m - plot(t,y, o' t,fv);
1 - wlabel ('t (timel );
12 - ylabel (' wit) );
13 - axis([01 0210
14 - grid on;
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9.4

[ Paam x| + |
11— ho=o0.02
? - wil) = 2;
3 - n=0;
4 - for t1 = h:h:l
5|= n=n+l;
8= #ln+l) = yin)-Teyin)+h;
= winel) = wind+(h/2)(-Tryln)-Texln+1)];
8 - end
9 - t =0:h:1;
m - fy = Prenp(-T+t);
11 |= plotit,y, o', t,fy);
12 - wlabel ('t (time) );
18)|= wlabel (vt );
14 - axis([01 0 2]);
15 - grid on;
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9.5
(0.17)? .
y, =1+0.17(1- cos(0)) + . [-1-sin(0) + cos(0) - (1- cos(0))] =1.3635072874

AAzk AAF A3 y(0.17) = "0 =1.3620855181

9.6

Y, =Y, +2[K1<2> + K] :1+Q71”(1+1.2498397328 ) =1.3534039998

AA L AR A3} y(0.17) = "0 =1,3620855181

A 22} 8.6815x10°

9.7

y, =1+ OTM (1+2x1.1428340623 +2x1.1649941560 +1.2991372174 ) =1.3620577491

A Az AR A y(0.1r) = "0 =1,3620855181

A e xb: 2.7769x10°°



9.8

Command Window

»» format longs
oyt = dsolwel Dy=yesin(t)", "wi0)=1")

y_t =
expl(1)+expl-cos(t))

*x =0, 24pi;
3% y_t=exp(1)+exp(—cos(t))

y_t =

1. 210438881 254307

9.9
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